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QUESTION 1

Technical service contracts that use the same XML schemas will support the exchange of messages based on the
same data models. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

With the Rules Centralization pattern, business rules are: 

A. retrieved and applied at runtime 

B. distributed across multiple business-centric services 

C. expressed and centralized in policies 

D. All of the above 

Correct Answer: A 

 

QUESTION 3

The application of the Redundant Implementation pattern helps increase the autonomy of: 

A. redundantly deployed services 

B. service agents that perform load-balanced access to services that are not redundantly deployed 

C. compositions that compose redundantly deployed services 

D. core service logic contained within services that do not rely on the redundantly deployed service 

Correct Answer: AC 

 

QUESTION 4

Which of the following does not make sense when considering the contents of a technical service contract for a SOAP-
based Web service? 

A. The Schema Centralization pattern supports the creation of independent data models that define data transmitted in
SOAP messages. 

B. The Decoupled Contract pattern results in the separation of the service contract from the service implementation,
allowing the service contract to be independently designed and governed. 
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C. The application of the Policy Centralization pattern eliminates redundancy and inconsistency by creating a single,
master policy bound to the WSDL definition of every service in a service inventory. 

D. The Legacy Wrapper pattern can be used to expose a legacy system as a SOAP-based Web service with a
standardized technical service contract. 

Correct Answer: C 

 

QUESTION 5

The application of the Rules Centralization pattern achieves the of business rules data within an inventory, but it also
business logic associated with business-centric services. 

A. centralization, centralizes 

B. decentralization, centralizes 

C. decentralization, decentralizes 

D. centralization, decentralizes 

Correct Answer: D 
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